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¥YPL-S-BLU

log log, \TVIVT &1 uH, Fewk w0 |4
{a) i-llngz'?
(b)) 1-3log,7
(€} 1-37log, 2
{d} E
8
; 5.
afz frdlt s it Soft @ 9um 9E x A
dmew 52, AR g e SRm A 20
(a) x==10
() =10<x=0
] Decx <10
(d} ==710
e o | i
1. '£+;|-:2—l
X
=i ‘[anz+hx+x—¢+g-—eﬁ
I E_
3. % — 5x + ab
2
4. L
x? _ax + bt
2 7
" T "
o X X+5
394 H 8 wA-E it =mas § 7
{a) HaE 1,4 305
(by “HEE 1,4, 43S
fe)  HEE 2, 49175
idy HEae 1 ¥R 2
(2-A)

U T TSR A R IR w2 A
a} A=A"

b} A=A

fed A=A

idih A=A

TR A, A TiEd | |

2 A, B 3 C o5 5o AywE F swegey
#, @1 Fraferfias § 8 s wd 777 & 0
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o
1.  What is the value of log, log; q'i’ul'?ﬁ equal | 4,
ta ?
tal  Flog, 7
(h)  1-3log,7
fed 1—8log.2
T
(el E
o
2. If an infinite OGP has the Arst term x and the
sum 5, then which one of the following is
correct 7
(a) x<=10
(b) —-10<x<D
ey Ne=x<10
{(d} x>10
ifi.
4. Consider the following expressions :
1. xRS — L
X
2. Jﬂ_:{1+hx+x—:45|-—iz
x x
3. Sx*_5x+anb
2z
4. TR
x* —ax + b 7.
2
. i
= 2+5
Which of the above are rational expressions 7
{a) 1,4 and 5 only
{b) 1,3, 4and 5 only
) 2,4 and 6 only
(d}y land?2only
YPL-S-BLU [3—A)

A square matrix A is called orthogonal if
LAl A= .!‘.?

b} A=Al
{h ,A.:A._]
(dl A=A

where A' is the transpose of A,

If A, B and C are subsets of a Universal set,
then which one of the following is not correct ¥

fa} AUEBMNCI=AUBINAUQC
by AUAUBI =B NA UA
(&) AUBUC=ICNB NA
idi (AnNnBlUC={AUCINIBUC)

where A’ is the complement of A

Let x be the nuomber of mtegers lyving between
2000 and 8001 which have atl least two digits

equal, Then x is equal to

(n) 2480
(b} 2481
(c} 2482
(dl  24E3
. 1 1 :

The sum of the series 4 = 1 + %" 3 b 1B
equal to

20
{al e ]
i A

0
ih) e

=

o
Le) —
W

&4
d -
(o) 5
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di-diw =1 T den TeE e E |
8. fwad am it d9 @= wen gHg w9 § 2
ial 14
thl 21
(e) 28
dy 3b

9. T om dmdls FEE wE @ d@e TEg

i & 7

la) 196
(b) 228
{ed 254
(dl 288

10, Af% o 3§z 0), fGEm gitEo 22 s ox-p=0
% A 8, O O S=AaE - x5 oox + B AR

xERE,Tﬂ o
ta) Tiom om -%%
by Frewem um _Ei
ic) al‘fiﬁﬁ'ﬂmi-ﬂ
(dy  sAferwan wE %3
YPL-S-BLU (4=A)

11,

12,

(2 + 30 % fug v # ooy vz = s
87

fa) 6

(hy 12

(e) 108

(d)y 218

uh @ wrEm A F fou, Feafafies @ a9
T | Rrreand) s AR #
1. (Ahilaa

1

2, detiA1) =
Sl =y

3. (hA = AAC R Ao aifEn (S 2

A faw 0 g = v WA I g

(a) w13 2

(b) Feer 23w a

() aw 13003

) 1,23hR3
x ¥ 3

anfirs [x* 59?9 % wEE W,
x?  1oy® 27

Fefafas § 4 s e (9ew) afEtm
27

a} x-3

bl =x-—¥

e} y=3

(dy x-3y
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Consider the information given below and
answer the fwo (02) items that follow ;

A survey was conducted among 300 students.
It was found that 125 students like to play
cricket, 145 students= like to play foothall and
a0 students like to play tennis. 32 students
like to play exactly two games out of the three

Eames,

8. How many students like to play sll the three
gamoes 7
i) 14
by 21
c] 28
(dy @b
9. How many studentz like to play exactly only
one game ?
a) 186
ihl) 228
el 254
iy 268
10. 1f o and [} {= 0 are the roots of the quadratic
equation x° + ux — i = 0, then the guadratic
BXprassion - %t +ax +} where x &R has
{a) Least valoe — l
8
ib} Leastwalue = =
. 1
(e} Greptest value 2
& 9
id) Greatest value i
YPL-S-BLU

11.

12.

13,

{5=-A)

What is the coefficient of the middle term in

the hinomial expansion of (2 + 8x)t 2

lal 6
thy 12
ie} 108
dy 216

For a square matrix A, which of the following
properties hold ?
1. (Ari=aA

1

5 _.}=
B Adeti det A

3, (3471 = 3A-) where L is a scalar

Select the correct answer using the code given
below :

ta} 1 and2only
ib) 2 and 3 only

) 1 and3only

id) 1, 2and3d

Which one of the following factors
does the expangion of the determinant
X ¥ 3

%2 By® 9 | contain?

{a) x-23
b} x-¥%
(el w¥v—4
idl x=-3y
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cosl— Hi - ginl— g
14. [ o
| —sin(= 0} cosi— @)
R TR 7
cogfl  —sin#)
ial |
L —&ini Gows [
cosd  smmA)
(b
sin cos f |
[ cosl  sind®
) |
-8infl cosd)
feosfl  —sind
(d}
| =inf eosdl |
F, o i ; dn
5. l—!-e-w"S] +I_—1—11.I'§1
. 2 i i 2 I
ol i= -1 &7
(a} 3
thy 2
i) 1
dy O
YPL-5-BLU

https://www.freshersnow.com/

]mmﬁﬁ
g

=1 T R,

16.

17.

17 Torehz Famrsi & Tl & 5 fiaemdt frearshi =
" £ 1 11 Taenfedi 6 vw An 0 Re
iRl 8 HHT S Ee TR I g e E g

) CE1T, 11)
ib) C({12 8)
te}  C{17,5)=C (5,3}

id} Ci6,831=C(12 8)

logg, 27 + log, 32 1 79 ¥ # 2

T
al -
B

149
13 —_—

6
{el 4
dy 'Y

18. A5 A 3 B whagE wIfE F symeaeia ol

(6—A)

segE €, a1 (AR fenmes w9

n) B1al
(b} AR
ey B1A
(d) AT'B




14, What iz the adjoint of the matriz

i posi—8) —sinl= @)1
|,— gini— H) COsk- n;._J -
" oosfl —agimB)
{1 |
 — gin b cods b
costl  smmH’
(b
(gind  cosd
cosh  sing
el
| —sint  cosf
‘enafl  —sind)
id)

| gin b nusﬂJ

15. What ia the value of

Sakezl

2 2

where i= .,.n"—_] 7

)
by 2
el 1L
di 0O
YPL-S-BLU

1.

17.

18,

(7-A)

There are 17 cricket plavers, out of which
5 players can bowl. In how many ways can a
tenm of 11 players be selected so ag to include
3 bowlers ?

{a) C(17,11)
() €02 8)
(@ C(17, 5=CI(6, 3)

() €5, 3)=C12,8)

What is the value of log, 27 + log, 32 ?

i
(&) 5

19
[k kot
I 6
(el 4
W)

If A and B are two invertible square matrices

of same order, then what is (AB) ™ equal to 7

@) Blal
(by A1B?
fch B 1A
d) A°'B
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20.

21,

YPL-5-BLU

& BEl 0 W UE BB

fal x=a

_ 3t sbic?)

(k) g

l2(a2 + b? + %)

=1 3

®x=i

(el

(d)

uﬂrmﬁmmfmmﬁqﬁmﬁg[ 2
r X
=1 e AR T B 7

16

(@)

bl —16

ey B

(d)y -8
wfte e

Z+y=3z=0,

H:—Ey+2:=53:ﬁ'{

ox—dy—z= 16

T #

a1 B, U wigdE v % we

HIA R, I 9w Bl o @

w1 7 FfEm.arsm 9 woa F w3y
wE B

(&)
(b
e

()

(8-

22, T (367 F oA F dhy # Rt A
HFMEd B 7

A HE g #

7.1 Bemas s W A &
% U wEnE Ay ¥ R

T § | w0 T

lal

(k)

(el

(el

23, AME u, v IR w (B g wE quiter Aofi
(GP) & pd, 8 3t A w| B @ I
nu p 1"|
Inv g 1| % "o #

Inw T ]J
(ad O
ikl 1

{e) (p—-glig=r)ir-p)

Inuxinvxinw

id)

R AT (1 4+ x20 % fue o # wen o2 =
Eﬂiﬁnﬁaﬂfrl+x}h 1 % fgog waw 4 )
HEq W5 & N i 3R ¢ § | Frefefies dei |
B EH-A FEY wA R 2

() a>p4y

bl o<p+y
e asf+y

idi a=py

A
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19.

20.

21.

If a4+ h+c=0, then one of the solutions of
8—x © b
b-x a =0 is
b a c—X
ial Xx=8

2
b Ela +b 4]

{c}

Jila +b¥ 4y

dy =x=0

What should be the wvalue of % 30 that the
2 4

matrix ] does ot have an inverse ?
-8 =x,

() 186

(ki - 16

(el 8

di -8

The sy=tem of equations

Zx+y-3z=5,

Ix—-2v+ 2z =5 and

bx-dy-z=18

(a} iz inconsistent

(b}  is consistent, with a unique selution
{¢} i3 consistent, with infinitely many
solutions
id) has its solution lying along x-axis in
three-dimensional space
¥PL-S-BLU

23.

(S=A)

Which one of the following is correct in respect
of the cube roota of unity 7

{a) They are collinear

ik} They lie on a circle of radius v3
ic} They form an equilateral triangle
{d) MNone of the above

qth ani

rb terms of a GP, then the determinant of the

If u, v and w {all positive) are the p'®,

inn P 1
matrix | In v i 1[is
In w r 1
1
hy 1

el p=gilg-r)ir—pl

(dl Imusinvelnw

Let the coefficient of the middle term of the
binomial expansion of {1 + x)°® be o and those
of two middle terms of the binomial expansion

of (1 + x*" =1 be P and y. Which one of the
following relations is correct 7

{a) a=f+vy
(b) a<P+y
(B} w=p+7
(d}y o=py

https://www.freshersnow.com/




25. AFEfm A=|xe R -12x21),
BalyeR:-1lsys st s AaxBw
IET=E B, W S=lix,yie AxBox? +v2=1]
AT aitarfaa & |

frfafion § & &F.m vs adi & 7
ta) S A® BH TH el s 2
(b} & AH BT U 9805 %o #

(€] S, A¥® B UF Uk smead wwiaam

(dl SV e T8 8

26. WA #fifom 6 r=1,2 3 .. F Fm T, e
A Aol (AP 1 oAl g # | 3 fadl g fim
YATHF QTR m o oo % fem mER um
T,=1n3MW T, =1/mt @7 &FFF«w
77
(a) (mn)?t

(b} m!+n?

fe) 1

(d 0

27. WM ®itaw % 0x) 8 v w uw e sres

- 2 T o ol aafEs x 5 fom o £

T gix) = fx) + Pix) + £0x) &, a7 fedt ot
mﬁﬁﬁx%ﬁ?m

(a) gmix)l<D
(b} pixi=0

Ll gixl=0

dl gExh=0

YPL-S-BLU (10-A)

28, THOHH FIE ® AR A, B AR CF HEy §

Fr=fefes w e $ifiw -

1. (A+B+CV=A"+H +0C
2, {AB)=A'R

3. (ABC)Y =C'BA

TET A, SR A T AfE R

sdrd A RN T E Y
(a) THEE 132

by e 233

(c) Hae 13Ha

(d} 1,23m3

29. fosmaf swma (11011, (10110110}, 3

a0,

(10011x0y), 1 drmeer, fe-amarf  demn
(1011011015, 2 | x3W yFamam & 7

{a) x=1v=1

b} x=1,v=0

e} =x=0,y=1
d) x=0,y=0

uiA cfifim 5 wmeqe B, us 9 smegm A =
HEWES MR B, A % oA dE s s oue
AEHEE R [ | AR k i#0), WEHE A W
HRE 7, 1 AR e o @ o

fay |

(bl L

ey W4
i) (kN
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25.

26,

27.

Y¥PL-S-BLU

et A=[xeR:-—1=<x=<l],

B=lyeR:-13y<1]and Sbethe
subset of A = B, defined by
S=lx,yieAxB:x*+y =1L

Which one of the [ollowing is correct ?

fa) 8 is a one-one function from A into B

(b) 8 is a many-one function from A into B
ic] 5 is abijective mapping from A into B

id) S is nota function

I.etTrbuther“‘termufanhPﬁur
r=1, 2 3, ... I for some distinct positive
integers m and n we have T_ = 1/n and
T, = 1/m, then what is T__ equal to ?

fa) (mnyt

m !+ |:|_1

thi
e} 1
idl 0
Suppose fix} is such a quadratic expression

that it is positive for all real x.

If plx) = fix) + Plx) + (x),
real x

then for any

(a) gxl<l

by gixl=0
el gxi=D0

d)  gxiz0

28, Consider the following in respect of matrices

a0

{11-A)

A, B and C of same order :

1. (A+B+C/=A+B+C

2. (AB=A'R

3. (ABC)Y =C'B'A

where A’ is the transpose of the matrix A.
Which of the above are correct 7

fa) 1and2only
fhY 2 and 3 only
fed 1 and 3 only

diy 1L Zand3

The sum of the binary numbers (11011},
(101101100, and (10011xly), is the binary
number (101101101),. What are the values of

xand v ?
ml] x=1,y=1
by x=1v=0

e} x=0,v=1

(d) x=0,y=0

Let matrix B be the adjoint of & sqguare matrix
A, [ be the identity matrix of same order as A
If k (=0} is the determinant of the matrix A,

then what is AB equal to ?
(aj

(h) W

e} KA

id) (k)
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31, AR (027 =2 R log,, 2 = 03010 B, A x
o= e gym A w7
il =10~
(b} —05
o - 04
d) -02
32. 08 97% % fum il F gw 5 o et
ferait weamd = = = # ¢
fal 45360
(bi 30240
(e) 27218
(d) 15120
X ¥ ¥4z
33, SFYE |z x  z+x| T OANOE WHETR 7
Y = R+J.|'
a) (x-ylly—zi(z-2x)
(h} (x—wiiy—=
ey (yv—zilz-x)
il iz —x (x * ¥+ z)
YPL-S-BLU v

34. afg A B3 ovs Bys & wm # afn

| 1 1 1
1+minA 1+&in B 1+gin¢ | =0

sinA+sin" A  sinB rsingE EEI-I:IUI!EinECi

B, @ Ffafaa 4 4 sham ves gt B 0

(a) Frqw ABC wwfgams &

(b} Frgw ABC mEm #

ey Fq= Apc T 2

() Frgw €t owf % an o i Fewd of

ST "l

85. UHHTE FE F oAeyE A s B % gEy i
Frefefan @ fan Hif .
L A*-B=(A+BIA-B)
2. A-DI+A=0z=4%:=]
T 1THEE HiegE # 3 O I g #
39w § & FRaa o 88 -
{a) aH 1
(by Fae 2
(e) 13 2 ZH
(d) FFM1,TF2
= ]E;':E—ﬂﬁmﬁsmi?
(a) cos 20
(b} tan 28
fe) gin 20
(d) cosec 20
Al
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81. If (0:2¥ =2 and log,, 2 = 0-3010, then what fg4
ia the value of x to the nearest tenth 7
(a} =100
iby  —05
e} =104
(dy -0
32, The total number of 5-digit numbers that ean
be composed of distinet digits from 0 o 915 i
ia} 45360
(bl 30240
el 27216
(d) 15120
%9. What iz the determinant of the matrix
‘% ¥y vz
g % =4Xx 7
l}" Z X + _}'J
Al (x=wilv==xliz-
a x=¥liy=zliz—x} 24,
b} [E—¥hiy—z)
e y—zliz—x%;
(d) (-0 {x+y+2)
YPL-S-BLU (13-A)

If A. B and C are the angle= of a triangle and
1 1 1

1+sinA =1,

1+zinB 1+5inC

sisA+ain?A pinB+eein?B  smC+uin*C

then which one of the following is correct ?

{a) The triangle ABC is izoaceles

(b} The triangle ABC is equilateral

ie) The triangle ABC is scalene

(d} No conclusion can be drawn with regard

to the nature of the triangle

Consider the following in respect of matrices A

and B of same order :
1. A*-B*={A+B){A-B)
3 (A-DI+AI=0s=A=1

where T iz the identity matrix and O is the
null matrix.

Which of the above is/are carrect 7

{a) 1only

(b} 2 only

(c) Bothland2

{d} Neither 1 nor 2

What is —"““: ool 0.7
1+tan® @

ia} coald

(b) tan 28

{¢) =in 26

id) cosec 26
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87. AR sec (6 - w), see 0 3 sec (0 + o), T Aol |40, e suls d u% w5 oA 2| 9w GEvfeds
(AP) # #, T8 cos o w 18, 71 sin? 6 + cos HHET 3 (3 - tan” A - cot AP = 1 I GO
o Fa # oy =M el a s asrom a2 o
(gl (1] Lal SO0
b 1 (b}  315°
|'l:] _] I:’L" 33‘]‘:‘
i d) 3450
id) —
2
41, h FEE 6 v Tna & oid ot mm B e w
TRTE = T Fam. © n
38 R A+B+C=180° % A g N . 'Eﬁhﬁ
Fimd R Fadam gy

sin 2A - sin 2B - sin 20 TFo% s 2 0

{a] 2h
(a) —4'ginA sin B sin O 2

. ih
(b) 4 eos AsinBcosC & 5
el —d ooz A cos B gin O ey h
@) —dinkesDisn @ b

e ﬁwﬁﬁ%ﬁm*ﬁ{m}ﬂ i wdim cosec x + cot x = V3w
Ll I e e e B 8, T 0<x<2n® ?
0 48 R | 93 99 & Iw F AN 6t S

122 m &, & 5 6w = f o &) aﬁaﬁ'%
fn} 122 =in48°m
T L | %
by 122 tan 42" m
(e} -'?Iﬁa n
{e) 122 eos 48° m
n bn
id) 122 tan 48° m Co B

YPL-S-BLU (14-A)
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37.

38.

39,

YPL-5-BLU

If see (B — o), sec @ and sec (B + a) are in AP,
where cos o = 1, then what is the value of

ginf04+cosal

n) O
iy 1
ey =1
1
d fad
) 2

If A+B+C=180°, then what is
gin 2A — sin 2B —sin 2C equal to ?

{a) —4sinAsgnBgsnC
ibl —-4cosAginBeosC
(g} —dcosAcosBainC

idl —4snAcosBeosC

A halloon is directly above one end of a bridge.
The angle of depression of the other end of the
bridge from the balloon is 48°. If the height of
the balloon above the bridge iz 122 m, then
what is the length of the bridge ?

() 192 s 48° m
(122 tan 42° m
{) 122 pos 48°m

(d) 122 tan 48° m

{18=-A)

40. A is an angle in the fourth quadrant. It

aatisfies the trigonometric

33 — tan® A - cot AP = 1. Which one of the

equation

following iz a valuoe of A7

(a} 300°
(by 315°
ey  330°
id) 345

The top of a hill observed from the top and
bottom of & building of height h is at angles of

elevation En ol % respectively. What is the

"

height of the hill ?

{ml 2h
(b} L
9
(el h
o) B
2
What isfare the solutionia) of the

trigonometric equation cosec X + COLX = 3,

whers 0= x<2n7

ial e only

b7 = enl
5 only
ey monly
[
(d} n,E.ﬂ
3' 3
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43. ﬂﬁﬂ&%i,?ﬁ

(2 cos 0 + 1) (2 cos 20 — 1)1 (2 goa g - 1110

cal i bR
tmp 0O
hy 1
ey 2
iy 4

(2 cos 48 — 140

44. ﬂﬁmr:aﬂ‘tnuﬁlﬂm-:u:u{nj,ﬁﬂm
m4xz-ﬂ=ﬂ'%‘ﬁ‘|ﬁ_1ﬁmﬂxﬂ:ﬂ
Calicl s
{a) —;

3
4
]] _
¥ 3
feh 3
4
(e} -
4

45. x F=ffes aq o R i

1 ]
2. i
g 1

b
PAI.
4

x ¥ IE WMl § @ weas mdEm

tan™! (2x) + tan~? (34x) =
FEH 3

a2 33
Fe 1 94
a4

(@)
()
()

(e}

YPL-5-BLU

-
4

I B AR 0

{16-A)

46, A v N A (GP) w1 ogan 98 2 @ ain

47.

W 3 W w dee g 2, A i Ao
(GP) R

i R |
LB ¥ 5121 e T
2° 8
10,2 2, 2
8§ 28
O e 3
2 od
3 3
d) 63, =, =,..
2 4

ﬂﬁa.h,cm&ﬂﬁmguﬁm%uﬁmm
it % &, A :—'-h.ﬁmﬁ-:m%?

(@) 2 spaenq ape B

1] c

b £ syt £ s
a h

(e) 1379l & gy 2

b C

(dy 13EE ] g ©

b A

A1 st i 1w gemet = dee T 2
A wft d9 3, 4 50 58 T W o E
wEl i it gy wften a7 # o

al 2664
{h) 3882
el 4044
id) 4444
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453. If B= E. then what is the value of
(% e 8 + 1719 (2 cos 20 — 1)1° (2 cos 6 — 1)1P
(2 cos 40 — 1)1 7
{a) O
(b} 1
ey 2
(dr 4
44. Ifcoz oand cos (0 <o < B < n) are the roots
of the guadratic egquation 4x? - 3 = 0, then
what is the value of sec a = sec f 7
4
ay - 3
4
b k.
{bj 3
3
] -
Lo 1
i |
. -
(d .
45. Consider the following values of x :
1. H
2. -4
1
% B
1
4. ==
4
Which of the sbove values of x igfare the
solution(s} of the equation
tan~t (2x) + tan~! (3x) = : ?
{a) 3only
ib) 2and 3 only
(el 1andd4only
idl 4 only
YPL-5-BLU

47.

(1IT-A)

If the second term of & GP is 2 and the sum of
its infinite terms is 8, then the GP is

@ 82, % %.

B 10,2, 2,2,
(e 4.2.1,%,;—2...
@ 6,3, %, %.

-h
H‘a,h,:arninAPurGFnrHF,theni_ is
equal to
(al Euﬂur1|:r1-E

& &
[+ C
(hi = BF = or 1
h anrh
(e lnr%m—%
A L
1 or — or —
{d} nrb

What is the sum of all three-digit numbers
that ¢an be formed using all the digits 3, 4 and
B, when repetition of digits is not allowed ?

ia) 2664
(b} 3882
(el 4044
id) 4444
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49, FHEOH ax’ + bx + ¢ = 03 px 4 qx 4 r =05z, faem et 52 + dy? - 2% — dy 4 2 = 0, W
% qE #1 FgwE @ & ) afk D, ¥ oD, i & 7

surer: 57 e o R & A DL Ry
D, (a) lﬁﬁﬁ

e # 7
(b) s W8 19 v A
ta) a’ -
)
p J3 ;
(c) ?mﬁmwﬁu@ﬁ
h.‘E
b = _
q (d) I 0 | FE 967
il
o =
L 1-3
(dy I | | wE T

53, AT lx+my+n=0 ok
50. AT A = sin? 6 + cos? 0%, A W T 0 & U's +m'y +n' = 0F o= 1 190 an 1o fom

o da s o afi g 0 TR 1 o e e @ oo
{al 1<A<
(bl E-fﬂ.cl fm' —I!"m
I —mm'
{e) Efﬂﬂl
16
3 13
s | AT WAL .
i | 3 A= iE et 4 P
(b} :
i+ mm'

51. foefl 99 & os = & o (sin) g (x,, v,
AN ixy, y) &, 7 30 g7 W Ao R

4 (el -I‘I.m'—a"m

() (x—x ) x—xob#{y ~y Hy—y) =x2 +5° M T+ |
1] {5—1112+¢5—HI]2512_?2

. i, -
(2} x*+¥ +h]xﬂ+2}*132_[!

: im'+I{'m
iy fx—xllx—x)+iy=vllv=vi=0 d} |——

1 2 ol }3} i — mm'

YPL-5-BLU (18-A)
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49.

3
2
w
i
2
{h) h—i
q
Ll ﬁ
. I
()  None of the above
5.
§0. If A = sin® 0 + cog’ 8, then for all real -EI,
which one of the following is correct ?
m 1=A=32
3
—=zA=1
(bl 1
13
(el el . - |
o8
H 13
yo A
id = =
51. The equation of a circle whose end points of a
diameterureml,}rim.ud (Xg, ¥ 5
() Cr—% ) x—xg)+y —¥) (r—vg) =x® +3°
b} (x-= :l'JE + l::.r—;.rI'l2 = Xa¥g
{0} x%+y%+ e, + 2y,¥, =0
(d) (x—xdlx—x+ly—yly—yg)=0
¥PL-5-BLU (18 =A)

The ratin of roots of the eguations

ax? + bx + ¢ = 0 and px® + gx + = 0 are equal.
If D, and D, are respective discriminants,

then what is ]I::T] equal to 7

B2,

The seeond degres squation

xt 4 dy? —Zx— 4y + 2 =0 represents

(a} A point

{b)  An ellipse of semi-major axis 1

J3

te]  An ellipse with eccentricity 3

id)  None of the above
The angle between the iwo lines
Ix+my+n=0 and I'x+my+n'=0 1s

given by tan™! 0. What is 0 equal to ?

fm'=I'm

(a}
ey \H’—mm

Im' < I'm |
H’+mn:| |

ih)

(6} |Im —Em‘

i 4 mm’

(d}
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54. Frfefea wedi w frem fifi . 56. HAAT 3x - By + 22 + 11 = 0 F farg (2,3, 4 Y

_ el
[ tmaﬁy=m+claﬂ;!y=mx#¢3ﬁ; qﬂ ﬁ
ﬂﬂﬂﬂ |=I_t,_!z| 3 | (a) l‘[ﬁ?{'ﬁ'ﬁl’:ﬁ}
fivm by 2 g (areE)
.3 TET] u.;+|:y+r.]=ﬂ M fed HF%
ax + by + e, =0 % =19 #) = S ;
_ll.':-‘—tzl 'EI {d] 4%{%]
a® + b*
3, mﬁx=clmx=:2%ﬁﬂﬁ§ﬂ
e~y &1 57. T2 0, P, Q 3 R % Fdwis ww (0, 0, 0),
(4, 6, 2m), (2, 0, 2n) X (2, 4, 6) & | v =Hfaw
I FEA 0 H wAE @ E g & L, M, N 3R K Fam et or, op, PQ
i Qr W = wER & fag # & LMNE v
ta) HEF 1 3R 2 oA wgda ¥ Freelt 8 dem oy Lk s
8 B Lﬁ{ﬁ.ﬁrﬂﬂﬂﬁmﬁﬂﬁﬂu@ilmm
n ' U FHW F # o
{c) HEE 1 33
fa) 6,2
idy 1,233
By 1.3
) 3,1
55, W = 3 i
& i ;xmiwﬁii”mﬁ @ g E @
-E:q.:.]_gl E +~—2u =liﬁﬁﬁqﬁ|:§
H'F-'I'ﬂﬁgﬂm?ﬁ?-’aﬂffmu+5y—ﬁ=l}%
WA & ? x=1 y-2 £=3 :
e :m 2 8 4 e PR S

{a) 20x + 25y —54 =0
(b) 25x +20y-54=0 (a) x+y+z=6 x+0y-Az=-4
th) x+2y-2z=-1, dx+4dy—-5z-3=0

l¢] 4dx+0y—54=0
g} Sx+2y-8¢e=0 Ix-Gy+83z=-2

() dx+ 5y -45=0 id} I +2y-Oz=—2 Ax_Gy+3dz=0

YPL-5-BLU (20-A)
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54. Conzgider the following statements ; GG,
1. The distance between the lines
¥=mx 4 ¢; and y = mx + cg is u.
v1+m?
2. The distance between the lines
ax + by +e;=0and ax + by + g, =0 is
ey - eg|
a? + b
3. The distance between the lines x = ¢
and x=c, is | gy - gg]. 57.
Which of the above statements are correct ?
(al 1and?only
th) 2and3 only
{c) 1and3only
idi 1.,2and3
B5. What is the equation of straight line passing
through the point of intersection of the lines
LR £ ek wiloand llel to
g+3-1“nda+z ; para
tha line 4x + Gy — G =07
(8} 20x+25y-54=0 58,
(b 25x+ 20y —-54=0
(€) dx+85y-54=0
(d) dx+6v—d5=0
YPL-S-BLU (21=A)

What iz the distance of the point (2, 3, 4) from
the plane 3x -6y + 22+ 11 =07

fa) 1 unit

{b) 2 units
(¢} 3 units
(d) 4 units

Coordinates of the peints 1, P, § and R are
respectively (0, 0, 0), (4, 6, 2m), (2, 0, 2n) and
{2, 4, 8). Let L, M, N and K be points on the
gides DR, OP, PQ and QR respectively such
that LMNK is a parallelogram whoge two
adjacent sides LK and LM are each of length
J2. What are the values of m and n

respectively 7

(a) 6,2
b} 1,3
ey 4,1
{d} None of the above

The line !—;1 =1'II'_2 =

3

T—

15 given by

(g zZ+y+Emb u+dy—Jz=—4a

by x+2y—-2x=-1, dx+dy—6z—3=0
(e} 3x+%—3z=0, 3x-6y+3z=-2

(d) 3x+2y-32=-2, dx-6Gy +3z=0
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59. Fefatas wedl w fsw S . 61 34 fiyw w1 S w0 # s ol famg
1. wHaHA! 9% - y+g=130 x+5y+22=3 {Ilri]l [-xg,ﬁ]_ [!:3,-]—]ﬁ?
8

x 4
% o= # wm g o :
2, WANEl 6x — 3y + 62 + 2= 0 3N (m) (g —xp) {2, — X ) (%~ %}
ﬂx-y+2;+4=u?i;ﬁ'aaﬁ'rqh%”g| by 0
9 FE ° W A = 2 o) | Ei—%ghlxg —xglixg —xy )
]{11213
(a) A 1
|ty —%a) (ko =%g}iHs —xq)
(d) 1 —Xg /g —XaHixg —xy
‘h} aﬁai 2’1]1213
i) 13T eEE
d) @ 1,3#a

B2, ﬂﬁ}'vﬂ.ﬂ_ﬁﬂ+}rﬂ+gﬁ+fyﬁg=ﬂ!ﬁf

60, Frafafas weri v famw S - w5 W 2, A 5 T W stfue, 9w e

firg T e B 7

FHF 1 4 st Pim, ) 3N Qir, 80 F g f
fiem g v gwfam W - (q?")
FW o A =W B, @ w £

el e |
ms — e i| i, 2)

(m= 4 nEJIrE+RE]
Vi (e} [—%J]
Fog it ot Brgm aBc H, mad & & @ (g —f)

a¥ =b?% + ¢ - Fbeeos AL

haﬁ.‘- y

oos X =

CHER R P S ) k5
fa + bl.la + bi=|a|?+ |b |2 mf
(a) TFT &S 19 11 56 # 3 w99 1L w99 gim &, 1f ain Sam Al
1 =1 el Pri # o
(a) @ &K b TE §
(b) = wEA 1 F I oud #, e weEw o e T
FEH | AR S il R (b) & ¥ b FHI F
() w1 EE R, Fireg e 11 e 2 (© & 3B, 45°% o T 3 §
d) e [ e B, e e oo B @ & b sl
YPL-S-BLU (22-A)
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59, Consider the following statements :

1. The angle between the planes
Ix—ye+zaslandx+ y+25=318 %

2. The distance botween the planes
fx—dy+62+2=0 and

1
-y +2z4+4=0i8 —
9

Which of the ‘-above statements isfare

correct

ia) 1only

iby 2 omly

{¢) Bothland?2

(d} MNeither 1 nor 2

60, Consider the following statements :
Statement I': If the line segment joining the
points Pim, n) and Q(r, &
subtends an angle a at
the origin, then
mE = nr
COE L = i = 3 .
-.Ilirui + 03 rd 4 89
Staterment 1T @ In any trinngle ABC, it 15 true
that a® = b* + ¢ - Zbe cos A

Which one of the following is correct in respeet

of the ahove two statements ?

{a} Both Statement | and Statement I are
true and Statement I1 is the correct
explanation of Statement 1

{bi Both Statement [ and Statement II are
true, but Statement II is not the correct
explanation of Statement I

icd  Statement 1 is true, but Statement 11 is
false

id} Statement | is false, but Statement I1 is
trie

YPL-S-BLU

6l.

6.

(23-A)

What i the area of the triangle with vertices

1 1 1
[IL,—]1 Xa, ]4 [13.--"]?
v AN %2 x3

(a) |If:lsf|—:|-:2HIE—I:_L] (g, — x4}

(b} 0O

(e} (%] —Xabxsy —_l'l:::l]l;i‘l'.:q - ¥l
X1¥xaxy

(e (xy—%ghixg _Hﬂb{xﬂ: =Xq )
2xxaxy

If v-axis touches the circle

eyt +pn+ fy + :—I = ), then the normal at
this point intersects the circle at the point

& _1
lal [ 5 E,ll

f f
(b) {-51_51

B 4]
le) [ E.fJ
(dy  (-g 1)

Let | & | =0,] 5] =0.
(m+BI1(F+ V=7 1%+ |2
haolds if and only if
@) & and B are perpendicular
by ®oand B are parallel
(o) % and B are inclined at an angle of 45°
—k
i |

(d} and B are anti-parallel
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84, R 7 =xi +}fj'+zfr.ﬁ_‘,ﬂ‘r 67.
o0+ + k) Frms mm @ g
(a) =x
(b} =x+¥
el —ix+v+zl
) ix+vy+z
85. wm 2i - + k ol —4f - &, v
T, UF g afew (gfe dee) &
n I =» 1 ﬁ
fa) =i & e —ap
73 BT R 68,
1 & 1 & 1A
{h) NI P 1,
g TEIT Y
L 1 » 1
L] 1 - — - = g
3 487 4B
1 A 1 % 1 A
¢ 3 — ]l # —= ]+ —=k
ol Sl
648,
86, I |a|=3,|b =43 |3 -5 =52
Al | @ + b | A R
i) o
by &
(e) &2
dy B
YPL-S-BLU {24 -4

g e &, b aft T ftn wowm oe
¥, WOE W wiea= wEE R 3R
R=E+.ﬁ+lﬂ..ﬁ=;—.ﬂ+?3ﬂ'{
C=%-b ¢t o fhfes 4 F9m
U HEl B 7
@ |A|>|B|>]10]
b |A|=|BE|%|C
@ |A|=|B|=|C}
{ |A[%|B|#|C |
(8 — hixia + b) TeEs w2
_!.
(e} 0
{hi :HE}
bel) 2({m x?]
W |z [P=| b 2
P+ 2] + 3k T miw vs safEEE w T
Tz =i Bi53 ® ak 997 0009 2 | SFafeE
& aargef =1 wftom #
fal &
by J3X
(el 45 A
(d) T H & =1 7
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YPL-S-BLU

lm "
It r = 11'"' % »3' + =k, then what i=|&7.
- A A
¥ oWkl + 1 + k)equal to?
lal x
(B} x+¥
fed  —lx+y ez
dl x+¥y+zl
A unit vector perpendicular to each of the
A # A A A A
voctora 21 — § + k and 31 -4 - Kk is
A
o Afedy-kt
'-3 \I::! 'I.II EBr
1 & s 1 a
ih) T1+ij+£k
1 1 A I &
el g ] — S |
B N B
1 & 1 & 1
dl] —=i+—=j+—=%5K
e i
GO,
' -
If |a|=8 |b|=4and |a - b | =5
— -
then what is the valueof |8 + b |7
n] 8
by &
el 542
idi B
(25=-A)

=iy

Let a F &%

perpendicular vectors each of unit magnitude.
b - = —* —* —*
fA =a +b +¢,B =a —bh + ¢ and
- s
a

C = —ﬂh-?,t.hen which one of the

b
and ¢ three mutually

tollowing is correct 7

W 1R 1B =]
B |A[=|B[=]T]
@ |A|=IB|=|C]
@ |A|=1B|=|C]|

. -
Whatis{a — b )x(a + b )equalto?

-
(4l 1]
—r =
{h a = h
gl S(a %xPB)
— =
CN e T

A
A spacecraft located at I 2} + 3k is
A
subjected to a force Ak by firing a rocket. The

spacecraft is subjected to a moment of
magnitude

fal A

(b} J3A

€h  JEA

{d} Noneof the above
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70. wE figm ABc o, ofz #wm O fawm wm, A|73. wEW

Ffeias %ol o fsm i . (ein x
-k ¥ — - HE Hﬁﬂlﬂ
1. AH 4+ BO +'CA = 0 fixl= " “ﬁﬂ“iﬁﬁqi
—3 & iy X E
2 AB+BO-CA=0 i x=0
—3 r » 2 s &
3. AB-BC+CA=0 weH & gay §, i § F wE-E TF T
— —3 —in ’
4 BA-BC+CA=0 LK
S {a) B x=0 oda 78 8
IR wmaA A o e gl # 0
) T (b) 48 WeHF x W HaA B
(bl &I (¢) ¥® x=nT " 48
03 (d) T x =09 Haa 2
(d) =W

4. T fix) = |x - 3| & Tom, Fafafas 4 4

71. TR #ifan & % v = cos! (sin x) B =R HH-H U el g Ry

tan 8% | 7% IFA0A (0, ) H 6 A B .
(a} FET x=-3 9 Ha9 T8 &

L
LEl —
¥ (b) He x =37 HAT B
{kil 3—“
F (e} O % =09 FTHenhy 2
m
(g X
= 2 id) BEH x=- 3T FATFHE B
)y =
2
. 2% —sin ' x a
75, irﬁtﬁaqftm=—l e s g
2x +tan™ x
=1 5 % =
72. ﬂﬁl?x::"’—i.‘nq{lﬁqﬁqqﬁqﬁmﬁﬁ Wi fag, Wb B, @ fo) W W w0 R 7
H__
HA ], T SHH BT T R (a) _é
fal  —em d) U4, ) 1
i) =
by (4, =) 3
el (1, ) LA, o) (e} %
dr (1, 4) U4, =)
(el o

YPL-S-BLU (26— A)
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70. In a triangle ABC, if taken in order, consider | 73.
the following statements ;
—f i — —5
1, AB +BC +CA =0
- = —* —
2, AB + BC - CA =0
- —F — oy
3. AB_-BC+CA=0
— —= i —
4 BA _BC+CA =0
How many of the above statements are
correct 7
ia) Ome
(b} Two
iey  Three
id} Four
T4,
71. Let the slope of the curve y = cos”" (sin x) be
tan O, Then the value of 8 in the mterval (0, T
i
i
al -
} L]
An
b il
(bl :
(e} %
76.
@ =
2
T2, Iffizx)= =1 defines a function on R, then
1_
what is its domain ?
lal (— oo 4} LI{4, o)
(hy  [4, o
ey L1, 4) L id, =)
Wy 1,41 {4, e
YPL-S-BLU (27T -A)

Consider the function

| in 2= if x#l
i o
fix) =
@
— i =10
15

Which one of the following is correct in respect
of the function ¢

{a) Itisnot continuous atx=10
(by Itisconlinuous at every x
(e} It is not continuous at x = n
(dd It is comtinuous at x = 0

For the function fix) = |x = 3|, which one of
the following is not correct ?

i} The funetion is not continuwous at € = = 3

(b} The function is continuoas at x = 3

(e} The function is differentiable at x =0

idl The function 15 differentiable at x=-3
|

1o Moo 00 s A X e

2x +tan | x
eontinuous at each point in its domain, then

what is the value of f10) ?

1
¢ T
[ 3
1
b =
3
p:
@& =
= 8
dy 2
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=+l K- Y BsD i :
[EE T
Gy =) (a} 42
MRLE
; by 242
1) R
wad
1
o
L) —_ lr.. . ufi
d+/3
1 1
{d] - id) S =il
443 2.2
(e I x Bi. e [ A R gdlsn = wd
- Ilﬁ}f:l;ﬂ.n'] 5 Emn\.n]_g?m E]'-J':ﬁ 3 = —+ R, fix)=%*=dx + 5
2 + 5 tanvx dx gm wfonfim 2, S8l A =(L, O % | B o=
il gfte (=) s & 7
a) i {a} (2,8)
Ik ;
b} 1 by (1, 6)
el -1
(ch [1, 5
{d] 2—11-
ALx (d) 1, 5]
TH. Wi’[x!:xainx+mﬂw+%mzxaiﬂ-‘ﬁ"ﬂ b b ;
4, feffEada shamor it & o 8l Im'h*-‘.f—ﬂﬂx frmde aroe @, el ()
n n
(a) ﬁﬁ,ﬁﬂﬂﬁ[n.%]ﬁmﬁmﬁ HETH quiiE e B 7
o |' o {a) h=n
(b} HE, AT u,EJnmmmg
i
. ithy a-b
(e} Em,mmn,ﬁ]ﬁﬁmuﬁ%
2 € 0
iy TR, HFH ::] ¥ B B id) 2(h-al
YPL-S-BLU (2B -4 )
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76. U fx)=y25-x%, then what is o,
] =1
1
(B) -
J24
1
] - [
+24
el - —-!
: 443
1
id)
443
- E—ﬂtan-.";. ;. dw
. fy=t - , then what is — |gn,
s [2+Emn;n dx
equal to 7
I
tab -
a o em
thy 1
i) -1
1
id} =
25:

78. Which one of the following is correct in
respect of the function
Ex}::sin.t+msx+%cm21? 81.
fal It is increasing in the interval [ﬂ. %]

(b} It remains constant in the interval
f T[‘J
0, =
|-. 2
{c)  Itis decreasing in the interval [1}, %J
(d) Ttis decreasing in the interval E T—E‘]
YPL-S-BLL (28-A)

1— cos @
What is lim = equalto?
A -0 a
(a) J2
(B} 242
1
(e)
Jz
1
B e
22

A function f: A —+ R is defined by the equation
fix) = %" — dx + 5 where A = (1, 4). What is the
range of the function ?

(a) (2,5
(b} (1, 5)
{e) [L5)
(dy [1,5]

s

wmasf

b
[1]-.-1:|:+J- x]dx sequal to,
i

where |.] is the greatest integer function ?

{a} b-a
(h) a-b
) O

d) Z2(b—al
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82, le--ﬁ[dx Topeeh T 2 9 85, -‘-{i(mn'll“dxﬁﬁﬂ%m#?
E )

dx
|
fay @ @al 0
ikl a T
15 [
4
(] 4
o
(d} 8 W =
E
dy =
Z

83, jain*‘xmmx TRk w0

86, Fefefan sl § O feud, wom
fix) =x*-Bx +GEEAR B ?

(al r:ua-ix+1:

(b} sin*x+c

fa) [—oo 2]
w4 — =in® x)® :
i -4—'—_ T E I:h} !E“ M:I

i ; Ll = 1
i1 - cos” }”l+r i T

i ;
4 idy €2 3

FE o OIS B |

B7. d@-Hel v = p eoslax) + g sin (ax), FE P
TS WA, W e g

Bd. e M) g foRE WL R 7 oy WOH
dx? -
ta) fn|tanx | +e 2
(k) :‘g—H}’=U
b} I |seex|+e -
dl‘z:r
[l tan x + ¢ el e +av=0
‘|d| E:“”l.:‘l"ﬂ I
d
fd) d—z +E.2]|."=ﬂ
X

FE o HEHFAA-SE R

YPL-S-BLU [30-A)
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B2. Whatis I|x—5|dx equal to 7
2
(e} 2
by 3
(o} 4
id 8
B3. What is Isin:jxrmx dx  equal to?
fa} oos'x+e
by sin'x+ec
P AR
- ¥
(el (1 =3ain" x -
4
(1 - cos® x)?
1dl S b e .1 -
-+
where ¢ 18 the constant of integration,
B4. Whatis jammx'dx equal to 7
la) In|tanx | +¢
by In |soex| +c
(¢ tanx+c
(d)  A0F L
where ¢ is the constant of integration.
YPL-5-BLU

https://www.freshersnow.com/

BA.

BT.

(31-A)

1
; i -1 l]l i
What is j- {ﬂ[tan = ;dx equal to 7

=1
a0

by - %
ic) = %
(d) ;

In which one of the following intervals 18 the
function fix) = x* - 5x + § decreasing 7

{a} (===, 2)
b}y [3,=)
{gd  [=w=o, =]

d@ 2,3

The differential equation of the family of
curves ¥ = peos (ax) + g sin (ax), where p, q

are arbitrary constants, is

{m) —--—-|]23-'=E|

i —% —ayv=0

() = Ay = 0
dx®

(d S +aly=0



g8, g (-1, -20 @ TR A IR
& __ .l % g o ad W
dx %3
aefieor #
(a) l?x":}'—ﬁxl""+3xﬁ—2=ﬂ
(b} Bxly+1Tx* + 2" _3=0
e E:-::-r—ﬂnt2 +17x" +3=0
(di 1?12_1.?+ﬁI_'i"—315+5=U

0 Wawd At & w5 w7 2, fawer =

y=acosx+bsinx+ee™+d8, FAloab,e

3 dwEws I E 7

fal 1
(hy 2
- el 3
(d} 4
dy
80. ¥FgFE g m[-—J
dx
B9
fa) ae™+be¥=¢
ih) l13=’“+—1.*h-"'=-|:.'
a
(el ae™ +he I:"]r=|'..
(el lE“""l+ le‘ h-'F_c
A b
ARl ¢ U wHeE W R |
YPL-5-BLU

3.

{32-A)

4f2 u = &™ sin bx FHW v = ™ cos bx B, A
du

ua - \'% ﬁmﬁ:m% 7
(a) ae®™™

(b (a®+ b¥e™

e} abe™=

(dy  (a+hb)e™

92, =R v = sin [In x) &, A1 Fo=fafaa @ 9 SR

TS H# R 7
-
fa) —dr—';-*vrﬂ
dﬂ
3
2 d7y dy o
(cl x—‘h! +xd:{+}_
(d} xﬂﬂ—xﬁ +y=10
dlz dx

U HEE % B9 H wHl Gl bl R wH W
40 m TETE % U AW § =@1% @O T R | Afg
it W wfirwan gwfim SEwa B, @ e
CIREEIR LR

&l 25 m
(thy 20m
e} 10m
idi H5m
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YPL-3-BLU

The equation of the curve passing
through the point (-1, — 2} which satisfies
dv P SO
e M=l = iz
(a) 17x y—-6x+3x"—-2=0
b)  Ex'y 17" + 2x" —3 =0
el ﬁ:{].r—'.a:r.2+1'i’xi+:i={!
2 5 -
idl 1Tx v+ Bxy—-3x"+6=10
What iz the order of the differential
equation whose solution is

y=acosx +bhsinx +ce” +d where o, b, ¢

and d are aritrary constants 7

(a) 1
(b} 2
c} 3
idl 4

What 18 the solotion of the differential

equation [di] =ax +hy?

1al ge™ s haT g

Ib_l 8% 1 h}#

idy —E“+]EE

where ¢ 18 an arlntrary constant.

Bl.

(33-A)

If u=2e"gnbx and v =e&" ¢ps bx, then

R | d
what is u—— + v— equal to ?

dx dx
(o)  ae™®
by {a® +bHe™
(&) ahae™™*
{di  {a+bre™

If v = gin {In x), then which one of the

following is correct ?

2.,
(a} :—J’+y=ﬂ
X
2
i) :—i':cr
X
2
g d®y ¥
el x +X== +yml
dx
i mciﬁ I A
dx® dx +

A flower-bed in the form of B sector has been
fenced by a wire of 40m length. If the
fower-bed has the greatest pozsible area, then

what is the radiuz of the sector 7

fa) 20m
(b} 20m
(e} 10m
id] Gm
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1
0, [xix-1)+13, T8 0<x <18, F TEE 7=

THE?
TR
{a) [_]a
4
i) 1
1
[ E
s
33
id 3
> (3]

&

095. AR y=|sinx|/™ & Mx=-Lw & mum
G dx
w7
e
& + 1
@ 2°%Ehz V3z)
(5]
mn
B
o 2 (6In 2 +3n)
6
= i
9 Bign2sJ3m
{c)
[
- 28 (@ In 2 — JAn)
6
d,/1 — sin 2x
4. gt —ERIEL 'ﬁlﬁﬁ-‘ai‘fﬁ'{ﬂ, TﬂFT i <X = o
dx 4 2
i
(A} ecosx+6i0%
{bl] ={¢pzx+ 8inx)
el +icosx + sinx)
(d) I H R A
¥YPL-5-BLU

(34-A)

A" &in
1 ~1fatanx
{m) e A 11
S R [ b ‘|
b)) ¢ l'r.a.u'l:rhtaﬂxJ
ab oA
{-1] c+lt _1[hlﬂnl‘|
ah a
(d) v # & wrE ol

g difee & fx o+ v = By sl
fix) = 1 + xgixibix) B, @ ].imng{ﬂua-'cm"[
¥ —5

lim $ix)=b® | T Fix) Fs smE R 2

X &

{a} 1+ abfix)
(b} 1+ah

e} ab

id}  abfix)

e Tt O L2V e g
dy x4y-=1

ja) v-x4+dinix+vl=c
b} wv+x+2inlz+yl=e
e} y-x+nix+yl=c

iy y+x+3ink+yi=c

TEl o wHes R |
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1
94, What is the minimum value of [x(x — 1)+ 1]2,|97.
where 0<x <17
1
f3Ya
wh .
bl 1
1
() =
[t 5
A
(d [ﬂj“
o |
95, If:.-'=|sin:|:|i”.1.henwhntiamﬂvaluauf;ﬂ
X
At X = - E T
a4,
_T.
8 — ]
@ 2562 Jar)
6
.}
(b1 26 (6 {n 2+ /3n)
&
_x
te) 9 B8 ln2++3n)
i &
x
5 L
@ 2562 JEr)
]
a5,
. |:I,,|'1— in 2
88, What is % equal to, where
K1 Fi
— R — T
4 2
(al cosx+zinx
(b} = {cosx+ gin x}
(el  %(cosx + 8in x)
id} Noneof the above
YPL-5-BLU (35-A)

; dx
What is . equal to ?
I a® sin” x + b gos® x
(a) e+ i1:::.11'1(.“—-_..:1“.]
ab b
b} ¢ —it-an'I[hmnI]
ab a
ie) :+itan"{hmnxJ
ab \ a
{d) None of the above

where ¢ 18 the constant of integration.

Let flx + y) = filxfly) and fix) = 1 + xpixipix),
where Li_::!nugtn] =a and Ijﬂthh bh. Then
u X

what is f'(x) equal to ?

{a) 1+ abfix)
(b} 1+ab

(e} ab

(d) abflx)

What is the aolution of the differential

.oodx x+v+1
r oo o TR
B ULATIOD d}"' x+z,r...1

@) yv=x+dlnix+yl=c
b) wv+x2+Zimix+v)i=c
&) y-—=x+lnlx+yl=c

d) y+x+2Inix+yl=c

where ¢ is an arbitrary constant.
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104D,

1nl.

1K2.

lim Zain® x+sinx—1 mwi?
. 2gin"x —9sinx+1
(1
1
ial - =
2
. 1
7 e
(b} 3
(eg) —2

id}

af% & 98 FF 9E o Fodes v e o
5 M &, W AeTEE 10 W oAhw we R
iR #

fm)

&
4
b Bcal
[ ) 3
a
() -
il
2

{
il 3

=3

30 Qe ¥ UF WOEA W WA HEEed
O 8 B | A 1TEE ®EIEEM g A 9
m faamm & wivmm #

{n] B
(bl
(o) Bl
(dl B8%
YPL-S-BLU {36 =

103.

104.

105,

Ad

wrefedi afn oA & v ffim wgp A e
= 25 9 # | AR FEAE % e 6 sl
= 26 @Y oW i & TR A 21 A R, W@
e § aefigl aft st ) R w2

{a) 20, 80
{b) 40, 60
fc) 60, 40
id) 80,20

A sin o W cos o F FOHH WO sin fj } 3
ain o 3N cos o H T O sin 0 F, W

frefertaa # & S /8 of 8/F 7

f %
1. 42 sinja+ ;—‘ |gin } = sin 2o
L o

i T
L 2 8= -
2 1.."" 5in ma[u 4]

et feu v e = A ol e g
(a) e 1

(b) e 2

(e) 13 2 ZE1

(dy aFM1LIH 2

am #Hifaw A, B o C u% aigfees wEm 4
waEiYy 9 I wyEtaa 3 fen gzand
# 1 af2 pB) = 1.5 PA) 3t PIC) = 0-5 P(B) B,
a1 PrA) e B

{a) :—
(b) %
Lo %
(d) %
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-]

100. What iz lim EE"”; x+w|”‘_1 equal
:__,E 2ain”" x—damx+1
to 7
1
() ==
2
1
by -=
3
ey =2
d} -3
101. If two dice are thrown and at least one of the

102.

dice shows 5, then the probability that the
sum & 10 or more ig

1
{a) E
4
bl =
) 11
3
(el ﬁ
2
d s
(d) 11
The correlation coefficient computed from a

set of 30 observations is 0-8. Then the
percentage of variation not explained by linear

reEression 15

fal BO%
{hl  20%
(e 64%
id} IG5
YFPL-S-BLU {37

103.

104,

105,

-5 )

The average age of a combined group of men
and women is 25 years. If the average age of
the proup of men iz 26 years and that of the
then the
percentage of men and women in the group is
reapectively

group of women 15 21  years,

{a) 20,80
() 40, B0
(¢) 60,40
(d) 80,20

IT sin [ is the harmome mean of sin o and
cos @, and gin 0 is the arithmetic mean of sin o
and cos o, then which of the following isfare

correct ?
1. u"iui.n[ui-E]Ei.uﬂﬁstnEﬂ.
2, 42 Eli!lH:tl:lEI[:!—%J

Solect the correct answer using the code given
below

{a) 1anly

by 2 only

ic} Bothland?2
idl] Neither 1 nor 2

Let A, B and C be three mutually exclusive
and exhaustive events associated with a
random experiment. If P(B) = 1-6 PA) and
PC) = -6 PiB), then PiA) is equal to

{a) E
4
(b iis'
el g
Lel) %
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106. % ez Faed d, 7 K v, Z SR & e

107.

YPL-5-BLU

IR & HEA: 25%, 36% 3N 40% @l &
Tmin =l 8 | weie X, Y, Z o 2w, 4% o
A% BTl "ieel @ T wEh # ) SeEa 4 8
TEfeew ¥ ¥ UF 9w e am # o T
STV 9T AT # | Ry wiEa ® R 33 i
X g1 &4 T 9 7

&)

(b}

i)

idi

8 Tos v w1y 3w wR B | wwdsw 6 Rm
= <y Wi 2 7

T

()
G4

a7

[+1]
{ Gd

aT
{c) ﬁ

229

id S
¢ 258

108. 5=l % @7 mym #, 90 3 ==feal sk

(38-A)

lm:ﬂﬂiﬁfﬁﬁiﬂsﬁi:lﬁﬁﬁ
s@es § | s wgp 0 @ efew v @ s
o= W OGN AW R | W T A wl
1 TEH 5N 2 Tl % 2 o T Wit 2 v

13

{al E
9

{h) ﬁ
3

el ﬁ
1

(d} ﬁ

Trfeafigs e w o Sifaw

1. afe vk gt W wes TR § 10 9 o
=, @ sitem ® o10 F gl @ oo
B

2. af% v gh i v wfate § 10 9 fin
wnd, 9t " fomee 1 10 6 9ig 7 awE
B

ITE o R HE w R Y
1,231 3

WA 1 32

e 133
HEe 2 ¥ 3

(&)
1h)
ey

(d]
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106,

In a bolt X ¥, Z
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, Y, Z respectively produce 2%, 4%
and 5% defective bolts. A bolt is drawn at
random from the product and 15 found to be
defective, What is the probability that it was
manufactured by machine X 7

factory, machines

(a) %
(b) %-E
o 3
(d) %

107. 8 eoins are tossed simuoltaneously, The
probability of getting at least 6 heads is
i}
i =LK
il
57
k]
G4
.-
256
22%
{d} 2
266
¥PL-5-BLU

108.

109,

{39-A)

Three groups of children contain 3 girle and
1 boy; 2 girls and 2 bovs; 1 girl and 3 boya.
One child is selected at random from each
group. The probability that the three selected
consist of 1 girl and 2 boys ia

{al %
(b) 3—92
ic) %
() 3—12

Consgider the following statements :

1 If 10 iz added to each entry on a list,
then the average increases by 10.

2, If 10 is added to each entry on a list,
then the standard deviation increases by
10

3 If gach entry oo a list is doubled, then
the average doublos.

YWhich of the above statements are correct 7

{a) 1,2and3

k) 1and2only
{¢) 1and3only
id} 2and 3 only
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114

111.

112,

YPL-5-BLU

25 Heoil o wEe 4 8 | 3fE e qaw i 2 9
feu =g 2, 1 ofomdt dEei A v

B 7

fa) 2
(by 4
e} 6
idy 8

afz @t =i X i v & 9. :ﬁ}ﬂ,yi;ﬂgﬂ
(i=1,2 8 .08 T4 T TOOTH 906D 6
pait QF, @ I 1 moite wes 2

P
la} —
Ya
(bl antilog [!i}
Q)
(e) n({logP-IlogQ)
{d} nilogP+log @)

afz 3@ weal A 3 B % us my B &
uifrem p B 3 =90 (A af B ©) O
Tt v & B W WiEmW g &, @1 FafEee
4§ HE-HA wE R

1. PAI+PB)=2_2p_q

2. P[iﬂﬁ]:l—p—q

et fam e g2 1 W = A I g
{a) Had 1

(b} e 2

1 i 2 2

(d) I LIE2

{el

(40

114.

114.

115.

_A)

ofE X T Y & gEEE O - 6 R, 3 X ali
?%ﬁﬂmﬂﬂﬂm—%ﬂ.ﬁ"r?m:{iﬂ
HRIEAN T 7T

fomt Q8T (xy, ) (3g Wb oo (%, ¥,) T U
ag=E 579 v G oaf am fam e aft
] I TEAT ST U e W E | e
5 3T y 3 e wEEE i & e A
{a) haer 03 1

(b) a0 3 - 1

fed 0,13 _1

(d) hEer - 131

A= (0, 1,2, .., 10) 3 § 7 qOfE « 30y,
wiwea Afim g4 w0 E | |x—y| > 5F E9
1 wrfiRar #

(@)
{h)
fed

(d)
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110. The variance of 25 observations is 4. If 2 i8 {118, If the regression coefficient of ¥ on X is — 6,
added fo each observation, then the new

varipnee of the resulling observations iz

and the correlation coefficient between X and

¥ g %.then the regression coefficient of X

(al 2
ihi 4 on Y would be
1
(&l ——
tie 1 24
idi 8 1
b -—
24
ey - 1
111. Ifx =0,y =00 =1, 2 3, ... n)are the values &
of two variables X and Y with geometric () %

meang P oand Q respectively, then the

geometric mean of E 5
b 4 114. The set of bivariate oshservations (%1, ¥1h

ia) % Xgs ¥oly ooy (Xp, ¥y are such that all the values
are distinct and all the obeervations fall on a
(b} antilog {% straight line with non-zero slope. Then the

possible wvalues of the correlation coefficient
(e} nilog P-log Q) between x and v are
(al Dand 1 only

ib} Dand-1only

fe) 0,1and-1

112, If the probability of simultaneous occurrence (d} —1and 1only
of two events A and B is pand the probability
that exactly one of A, B oceurs is q, then which 115
of the following is'are correct ?

idd nllogP +log Q)

. Two integers x and y are chosen with
replacement from the set (0, 1, 2, ..., 10}, The

1. HMAI+PB)=2-3p-q probability that |x —y | =5 is
2. PIANBi=l-p-q (a) il
Select the correct answer using the code given
below B a6

121
{a) 1only

a0
ihy 2 only ) =

. R TY

e} Both1and2

256
(d)  Meither 1 nor 2 W) 57

YPL-5-BLU (41-A)
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116. U% ¥ JAW 4§ Heiga @1 w9-a A 3 B #

117.

wfeR] w1 Bm o owfEs a9 s R,

Tafeatian aftomm 2 & -

FOAT A | FOET B
HiWeRT i HEA 500 B0
Fie wifEs a5 T 1860 | T 1750
A1 & " W 81 100 |

FufyEi A o B % o afiysl & v gw fau
e qiftE 39 w1 dee ol deE F g =
T B

(a) F 1860, 100

(b)) & 1760, 100

fey & 1800, 81

(d) IEEE H H w0

#iF g Taeeh werhl 901, 2, 3, 4, 630 6%
sE i mL s mfafh it @wadw s
Fa & | WA o ok, p s o s
UL, gL YL W s o o faef
W 7 | 8 R % awfEm ufomd & dem
T i xsysz8?

{a) 14
(b) 16
(e} 18
idy 20
¥PL-5-BLU

118. U= afamgs 4, Freafalas 9 9 50 o\ @

119,

e

fa) HIED

(b wiTeER (HifE )
{e) TOITRR HIEH

i) TEES (HIE)

fedt Wt smram 2oft 9 (99 =i v e T
#), afz x wrem @ men Tamem w1 FEfE
& 3 v gew Faem & BEfm s 8, &

frefarfigs @ & #m v = # 2
fa) yzx
th) y==x
e} x=¥
{dl x<y¥

120, FreafefEs 0@ 7 e v Rl 9, sm =

(42 -A)

SOUTTE HEEEE WIS B ] e w0 7
(o) it s il 6 A
(by [ = g s gigeen

e sl & @™ 3 39 gE w e
faamr =% e w0 93

[e)

(d) =l o A A wEe 6 YeEn (I
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116. An analysiz of menthly wages paid to the |118,
workers in two firma A and B belonging to the
same industry gives the following result :

FirmA | Firm B
| Number of workers GO0 GO0
Average monthly z 1860 | T 1750
wage | i
Variance of
distribution of wages e | cas
The average of monthly wage and variance of
distribution of wages of all the workers in the
firma A and B taken together are e
fay & 18560, 100
thy ¥ 1750, 100
el 1800, 51
(d}  MNone of the above

117. Three dice having digits 1, 2, 3, 4, 5 and 6 on
their faces are marked 1, IT and 11T and rolled.

Let x, v and & represent the number on die-I,
die-Il and die-I1l respectively. What is the | 120.
number of posgible oulecomes such that
X>yp>x?
(a) 14
(b 16
{e} 18
) 20

YPL-3-BLU (43-A)

Which one of the following can be obtained

from an ogive 7
(Al Mean
(b1  Median

ied Geometlric mean

id] Mode

In any dizerete series iwhen all values are not
game), if ¥ represents mean deviation about
mean and ¥ represents standard deviation,

then which one of the following is correct 7

n) ¥y=x
b)Y ¥v=x
ey Ky
(d) x<y

In which one of the following cases would vou

expect to gel o negative correlation 7

{al  The ages of husbands and wives

(bl Bhoe sizge and intellipence

(e} Insurance companies’ profits and the
number of elaims they have to pay

(d] - Amount of rainfall and yield of crop
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SPACE FOR ROUGH WORK
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el HH & oo sg
SPACE FOR ROUGH WORK

YPL-5-BLU (46 —A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0

T.B.C. : YPL-S-BLU Test Booklet Series

TEST BOOKLET
MATHEMATICS

M
Time Allowed : Twe Hours and Thirty Minutes Maximum Marks : 300

o

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOEN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheat linhle for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet containe 120 items (questions). Each item is printed both in Hindi and English.
Fach item comprizges four responses (answers). You will select the responze which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
regponse which you consider the best, In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response Lo various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent ta you with your
Admassion Certificate,

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheef. You are permitted to
take away with vou the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end,

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WHONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i)  There are four alternatives for the answer to every question, For each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to thot question will be deducted a8
penalty.

(i)  If a candidate gives more than one answer, it will be treated as n wrong answer even if one of the given
anawers happens to be correct and there will be same penaliy as above to that question.

{iii} If a question ia left blank, ie., no answer is given by the candidate, there will be no penalty for that
queskinn.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 80
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